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Scan the lesson. List two headings you would use 1‘0 make an -J
outine of The lesson. I

Vocabulary )

direct variation
constant of variation
constant of proportionality
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8.EE.5, 8.EE.6, 8.2, 8.F4

Mathematical Practices
1, 3,4
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Charity The amount of money David can raise for the Wish Upon |
A Rainbow Bike-a-thon is shown in the table. |

Biking Time (h), x | Money Raised ($),¥
| f"; 2 -
| A4 - ; 0 ;Jr?_o
'@ x2 6 60 |

Recall that when the ratio of two variable quantities is constant, a
proportional relationship exists. This relationship is called a direct
variation. The constant ratio |s called the constant o vana nn or

constant of proportionality. (SAWE ‘hﬁ as Sip

Complete the steps below to derive the equation for a direct
variation. v

Slope formula (x, y)

y—0 %y, ¥1)=1(0,0) (0. 0) X
(%5, ¥5) = (% ¥) :

'V
—i =m Simplify.

| -
V.= t_mJ x ! Multiplication Property of Equality
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= 1. Use the table to find the rate of change. Then write an equation
: ‘@ in y = mx form to represent the situation.
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B= mx

In a direct vaniation

equation y = mx,

m represents the constant

of variation, the constant
| of proportionality, the slié,

| “andthe unif rate. 1550
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Key Con cep’l‘ '

Words A linear relationship is a direct Graph j
variation when the ratio of yto x Is a 17 -
constant, m. We say y varies A 5
directly with x. ol fN 2
— = 3x ] "j
Symbols m= % or ¥y = mx, where m is the ; 2* ;} ]
constant of variation and m # O £ = 7{2 L

Example y= 3x 7 '
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The slope of the graph of y = mx is m. Since (0, O) is one solution of
y = mx, the graph

irect variation always passes through the

Use the points (2, 15), (3, 22.5), and (4, 30).

1. The amount of money Robin 40 1~ 7
earns while babysitting varies =
directly with the time as shown % 50 /
~In the graph. Determine the e £
amount that Robin earns per ‘g / 5|
hour. E 10 b t I
To determine the amount Robin . : |
earns per hour, or the unit rate, 2 Ttm: {hwrf} 8% g ’}
find the constant of variation. SaERR

(2,1%) (%39 U

7.5

30
or 1

4

7.5

amount earned 15
£ 1

22.5
time 2 elr

3
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So, Robin earned $7.50 for each hour she babysits.
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Got I+ Do this problem to find out.

in Two Variables

4

a. Two minutes after a skydiver opens his parachute, he has
descended 1,900 feet. After 5 minutes, he descenc}ge
4.750 feet. If the distdnce varies directly with the tif

at %at rate is the 3kydwer descendin 5 .--'Z
(6 Lh 70) z e




